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1. (5 points) Interpretive Dance

(a) (2 pt) Assume the following definition has been loaded into the Scheme interpreter.

(define (sum-of-squares x y z)

 xrxx) (xyy) (xz2)))

Given the following Scheme expressions, mark the number of calls made to scheme_eval and scheme_apply:
i (+5 (x373))
scheme_eval O3 O4 O5 O6 O7 @3 O9
scheme_apply O1 @2 O3 O4 O5 O6
ii. (sum-of-squares 3 4 5)
scheme_eval O4 O5 O8 O10 O14 @19 O24 O25
scheme_apply O1 O2 O3 O4 @5 Os

(b) (3 pt) For each of the following Scheme expressions, mark the choice corresponding to the correct Pair
representation that scheme_read would create.

i. (func (4 5) 3)

O Pair('func', Pair(4, Pair(5, Pair(3))))

O Pair('func', Pair(4, Pair(5, Pair(3, nil))))

O Pair('func', Pair(Pair(4, 5), Pair(3, nil)))

@ Pair('func', Pair(Pair(4, Pair(5, nil)), Pair(3, nil)))

(O Attempting to scheme_read the above expression would result in a syntax error.
ii. "(1 2 (3))

O Pair(1, Pair(2, Pair(3, nil)))

O Pair(1, Pair(2, Pair(Pair(3, nil), nil)))

O Pair('quote', Pair(1, Pair(2, Pair(Pair(3, nil), nil))))

@ Pair('quote', Pair(Pair(1, Pair(2, Pair(Pair(3, nil), nil))), nil))

(O Attempting to scheme_read the above expression would result in a syntax error.
iii. (cdr () 'cdr)

O Pair('cdr', Pair(nil, Pair('cdr', nil)))

O Pair('cdr', Pair(Pair(nil, Pair('cdr', nil))))

@ Pair('cdr', Pair(nil, Pair(Pair('quote', Pair('cdr', nil)), nil)))

O Pair('cdr', Pair(Pair(nil, Pair(Pair('quote', Pair('cdr', nil))))))

(O Attempting to scheme_read the above expression would result in a syntax error.



